| Efficiency vs Dxy |
> 0.8
<

o
\‘

efficiency vs d
o
(o)

0.5

0.4

0.3

0.2

0.1

-
N

Ratio

o

(]

a1
TTTT TTTT]

510 15 20
TP dxy (cm)

_ mkFit_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | |——

—a— D |V|_0r|?:|_na| SIEPZ_TDar-pmndasel-newgeom
D
D
D
D

siep2 tibar-phasel-newgeom

M
M:an%Ie_ste 2 ttbar-phasel-newgeom
M fas

N 0.2 . .

o : :

€ 018
L |

e s e e

“pixelCPETemplate step2 ttbar-phasel-newgeom

o L : : : : :

E0.214 P P rorneree Hl R

o : : : : :
e

O
008

008t L

0j02ifﬁfffffffgﬁfffffff?.f.'_+ﬁ+f+';_*}ﬁ§ﬁ LA

1

Ratio

1

T e A AT
L N N -A + 1 N

093620 <10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


